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Instructions for Candidates

1.

2
3.
4

Write your Roll No. on the top immediately on receipt of this question paper.
All questions are compulsory and carry equal marks. -
Map stencils are allowed for drawing outline of maps, where ever needed.

Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.
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Examine the pattern of development of economic geography. Discuss its
fundamental concepts also.
OR

Throw light on the distribution of Petro- chemical industry in the world.
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Discuss commercial grain farming with special reference to wheat.
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OR

Give an account of the distribution of iron - ore in the world.
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Write a note on the modes of transportation with special reference to sea and air

routes.
' OR

Examine the inter-regional flow of trade in the world.

) v o W B e def ¥ aemEE & W W o il )

Jran
fzg & =R @ 3Aq: aNF varE @ FHAeer FHiN |

Discuss commercial dairy farming in the world.
OR

Explain Von Thunen’s theory of agricultural land use.
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Write notes on any two of the following :
(a) ‘K’ Principles of Christaller’s central place theory
(b) Major fishing grounds of the world

(c) Information and communication technology industry

(d) Factors affecting location of secondary activities
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